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h) Solve the differential equatio " 
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Reduce the quadratic form Zxy+2yz+2zxto the canonical form by orthogonal
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i'{ote: This quesrion paper conrains two parrs A and B.' 
Part A is compulsory *hicli.urii.r 25 marks. Anslaer all questionrin pan n
Part B consists o{'5 Units. Answer any one full question from each unit. Each
question carries I 0 marks and may have a, b, c as sub questions.
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3.a) Find the values of a and b for which the equations x+ ay + z:3, x+2y +2a: g

and x+-52 +3: : 9 are consistent.
Prove lhat ii A and P are square matrices ol the same order.and P is
then A and P-t AP have the same Eigen values.

Calculate ;lUS by Lagrange's mearl value theorem.
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Delelnrirrc u lrether the function r/ =.lr/rl - r r * r'r/tl-;'- t.

is functionally dependent i:f so find the functional relation.
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5.a) In a triangle ABC find the maximum value of cosAcosBcosC.
b) Find the maximum and minimum values of the function

f (r, y): xo + yo -zx' + 4xy -2y' .
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9.a) Solve the differential equation
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10.a) Find the Laplace transform of tin / 
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y" + 9.y I sin'3r; ,y (0) = O, r'101 : O.
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b) Evaluate the Laplace transform o1 1na1, -r)l [5+5]
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